
Answers

18 is 1 less than 17. 	 Incorrect

					     Possible corrections: 18 is 1 more than 17; 
					     17 is 1 less than 18; 16 is 1 less than 17.

15 is 1 more than 14. 	 Correct

14 is 1 more than 15. 	 Incorrect

					     Possible corrections: 14 is 1 less than 15;  
					     15 is 1 more than 14; 16 is 1 more than 15.

19 is 1 less than 18. 	 Incorrect

					     Possible corrections: 19 is 1 more than 18;  
					     18 is 1 less than 19; 17 is 1 less than 18.

At Tim’s party there are 12 girls. There is 1 more boy than there are 
girls. How many boys are there?

There are 13 boys.

The pass the parcel present has 18 layers. One is torn off. How many 
layers are left?

There are 17 layers left.

Tim has 17 cards. He gets 1 more. How many does he now have?

Tim has 18 cards.
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